4

THIS DRAWING IS UNPUBLISHED. ‘ RELEASED FOR PUBLICATION 20 R EV IS IOP@S
<:> COPYRIGHT 20 BY - fLURIOHTS RESTRVED. P LTR DESCRIPTION DATE DWN APVD
5| A INITIAL RELEASE 04APR2015 | GY |CW
B ECR-15-013759 27SEP2015 [DW  |[CW
0 ®)
o
[a®)
NOTES:
| . TECHNICAL CHARACTERISTICS:
INSULATION MATERITAL: PC
6 X M3 screw, recommended RATED VOLTAGEE 500V
tightening torgue 0.5Nm RATED CURRENT: 16A -
INSULATION RESISTANCE: >=400M()
4 X M3 screw, recommended RATED IMPULSE VOLTAGE: 6KV
1 tightening forque 0.5Nm = POLLUTION DEGREE: 3
\ FLAMMABILITY: UL94V-0
ﬁ%} MATING CYCLES: 500 CYCLES ) )
O OPERATION TEMPERATURE: -40C~+125C
< L T e WIRE RANGE: O0.5mm2~2.5mm2 (AWG20-AWGI|4)
ok . LJ o~ CONTACT TYPE: SCREW CLAMP (M3)
HDC-HE-D08F QN
104 800V 6KV 3 .
| il P M4 screw, recommended BB
tightening torgue 1.2Nm | BAS%K
wamtk . PC
HreE: 500V
5 35 Fowm: | oA
s >-400M0)
‘ BABE: 6KV
FRER . 3
© 1 O A msEg . UL94V-0
1 | - BRkH. 500 %
- — IEE: -40°C~+125°C
N — * N © #4EE: 0. 5mm2~2 . 5mm2 (AWG20-AWG I 4)
I _ FhAM - EHEE (MI)
N ‘
C\
© | A !
\d
%
L_ 44 - s
NS
M FIB 4240 i 1 o e 2 T F
Panel cut out for inserts for
use without hoods/housings HE-006-F T2040062201-000
DESCRIPTION PART NUMBER
THIS DRAWING 1S A CONTROLLED DOCUMENT. |OWN 05APR2015
CH%M?'YQO 05APR2015 [ ] TE TE Connectivity
DIMENSIONS: OTTHOELREWRIASNECESSPEUCNILFEISESD- AP%Dhr LS anOgSAPREO ,‘ 5 NAVE
mm ' Xiang Xy HE-006-F
0 PLC 4 PRODUCT SPEC
@gggtg i 108-137044
3 PLC +- APPLICATION SPEC
iNgtég +- . 1} 4771 3470 414 SIZE CAGE CODE | DRAWING NO RESTRICTED TO
WATERTAL FINISH ] WEIGHT - A300779@ET2040062201000 _
- - Customer Drawing SCALE 11 SHEET 1% REV B

1470-19 (3/13)




